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Problem 1. Use the comparison test to explain whether the following series converge.
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Problem 2. Use the limit comparison test to explain whether the following series con-

verge.
a 3o, ﬁi’nll;—l
b S st
¢ ol s
4 S gt

@ Obwrne thew

W+ |
u\m Sn3-dur-1 _ L\‘w e\ ) i
h=te | - ;‘h‘b_h'v, \ \
= =%
ol W an?
k>~ Tl o3|
L
= g >
- | %<
‘La.u‘cw; , Swge & F c“H.UMJMJ sv:‘\\_?w‘_—l Colh\lorota
wz i W=
L3 tle lJmll» Gmrcwb o ‘a{-.
O Olene theo
Fn- |
Liw, Swetnd3d L».\ Ju-l  n
= vo o e Suf WY v
"w
- Ui N’-w
kv SW a3
2
= ¥ >0
o oo
— [ _ dw-
‘ La.u'tﬂv., , S‘Mu & V\_ 4\.\[“3‘0 P ;h,+1“f3 oenuuﬂ“
we | ws

L':f ‘H«. Ulwl' Gmrwrh o ‘a{-.



|
—_— |

b"”‘ J?h’t&u’-l _ Lw ) _y{l"

hoe ! - %o J?h’t—iu’—z .

s
. ( UL; )I/;

[P R, ?‘v.;* Wy
)
h
= (L} ) >0

oo
—_ ] |
\La.n:cw._ , Swee & :;‘h Couverges , C m—l Converger

we | wz=¢

n
>
H

Li'! e l—hwl’ Comrwrh on ‘ed-,

L. Vi? rha lM W} ) _nl_"'
hbe \ - e Jwednt, '

= lim ( 4.} )'/z.
PR TP

e
i

—_ o \ oo )
‘LA.N.'CDN. , Swee & ;\Th dw""f’& uC ‘}y? e XJVMJM

w= [

LS e L‘uwl' Gmrwhw ‘u{-.



